3: Projectile Motion

Name: IZ\ ,«5" ' Score:

1. The velocity of a projectile at launch has a horizontal component v;, and a vertical component v,. Air
resistance is negligible. When the projectile is at the highest point of its trajectory, which of the following
shows the vertical and horizontal components of its velocity and the vertical component of its acceleration?
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2. A plane flying horizontally at a speed of 50.0 m/s and at an elevation of 160 m drops a package. Two
seconds later it drops a second package How far apart will the two packages land on the ground?

(a)> 100m y o+

b) 162m . ,ﬂ L Acua
¢) 177m g
d) 283m [
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3. When a football in a field goal attempt reaches its maxim height, its speed is

Zero. _
G%\ Less than its initial speed 1/\[ 29
Equal to its initial speed. ¥ e 0 F < A
d) Greater than its initial speed. ;v T V¢ HT F

4. A pilot drops a bomb from a plane flying hor1zontally When the bomb hits the ground the horizontal

location of the plane will i L | PP |
a) Be behind the bomb. PDoin N INC 29MC  Nyrzonla M
(6)> Be over the bomb. g

¢) Be in front of the bomb.
d) Depend on the speed of the plane when the bomb was released.

5. A stone is thrown horizontally from the top of a tower at the same instant a ball is dropped vertically.
Which object is traveling faster (total final velocity) when it hits the level ground below?
) It is impossible to tell from the information given. | y ;
@/ The stone. - }) »a /0 1 ;;
¢) The ball. i - .
d) Neither, since both are traveling at the same speed. .




6. A cannon ball is shot at a ship in a harbor with a velocity of 50 m/s an angle of 60° above the
~ horizontal. The cannon rests on top of a fort that sits on a cliff 50 m above the harbor. (10 points)

a.  Draw a sketch showing the path of the cannon ball. (1 points)
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A ¢.  What is the range of the cannon ball? (4 points)
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